
International Climatic Conference – Who win? Who lose? 

scene  

News 

Reporter 

3B9 Ho Hei Yin 

According to a report by the World Meteorological Organization (WMO), published 

in May 2022, there is a 50:50 chance of average global temperature reaching 1.5 

degrees Celcius above pre-industrial levels in the next five years, and the likelihood 

is increasing with time. 

 

A 1.5C rise is considered the threshold for dangerous climate change. 

 

Different countries are having international conference to combat the problem. 

However, they have different viewpoints on the CO2 emissions and reduction.  

 

Chairman 

(3B2 Chan Lok 

Ching) 

 

Representatives 

from  

 

More developed 

countries 

(MDCs) 

 

Less developed 

countries 

(LDCs) 

Chairman:  In order to solve the problem of global warming, different countries 

have to set targets to reduce CO2 emissions.  More developed countries should 

contribute more and set higher targets for CO2 reduction.  The more developed 

countries such as USA and Japan are also advised to offer subsidies to the less 

developed countries such as China and India so that they have more resources to 

improve their energy efficiency. 

 

MDCs1: Wait. Why do we have to pay more for less developed countries? That’s 

none of our business.  

 

LDCs1: Because we’re less developed countries, so we have less money. That’s 

why… 

 

MDCs1: Do you know what you’re saying? You are not poor anymore. And in recent 

years, guess who emits the greatest amount of CO2?  It’s you, LDCs! (point to 

China) You have the greatest responsibility in the reduction. 

 

LDCs1: Oh, the developed countries are now going to break their promise. 

 

MDCs2: (Stand up) How selfish you are! How can I maintain my economy after 

meeting my targets and paying others’ subsidies? 

 

LDCs2: Don’t you remember that we were not industrialized until later in the 20th 

century? In the 19th century and 20th century, you emitted even more CO2 

than we are emitting now.  You also have greater responsibility to reduce 

c02 emissions. 

 

MDCs2: We’re talking about now, not past centuries. 

 

Chairman: (Slap the table) Enough! Our world is dying. Many people and species 

are suffering from the impacts of climate change. 



  

Actor1 in the 

Island 

countries 

Help me! Help me to reduce global warming! My country is sinking!  

 

Actor 2 in 

the Island 

countries 

We live in Tuvalu, which is an island country.  I don’t want to move to other 

countries.  I love my country very much.   I want to stay in my country forever.  

Don’t sink. 

 

 *Panting* 

Polar bear 2 Hot Hot Hot.  I feel very hot.  I am hot and hungry. 

Polar bear1 I am really hungry too.  I have had nothing to eat for 2 weeks.   

 

Polar bear2 My grandma told me that there were lots of fish, seals and food outside.  I want to 

swim outward to hunt more food. 

 

Polar bear1 No, don’t do that.  The sea ice for us to take a rest is shrinking.  You will get 

drown and die.  You cannot swim for such a long distance. 

 

Polar bear2 Our species are endangered. 

  

Sea Turtle 1 I am 50 years old.  However, I am still single.  I cannot find a husband. 

Sea turtle 2 Me too.  I am 70 years old.  I cannot find a husband too. 

Sea Turtle 1 What is happening?  I heard that many sea turtles cannot find husbands. 

Sea Turtle 2 Yes.  Sea turtles are more likely to be born female as the temperature of the sand 

incubating the eggs increases. 

Sea Turtle 1 Really?  The unbalanced sex ratio causes less reproduction. 

Why does the temperature of the sand increase? 

Sea Turtle 2 It is the fault of the human beings again.  Their activities lead to a climate change. 

CRYING 

  

Mr. Earth 

3B17 Leung Ka 

Ming 

(very sad) 

The human beings are very selfish.  They only care about themselves. Lots of 

species go extinct.   

 

It is important to keep temperature rises this century to 1.5C compared to a world that 

warmed 2C or more. 

Actually, it is still possible to keep the world below 1.5C, if drastic cuts in emissions 

are initiated by 2030. 

 

News reporter 

3B9 Ho Hei Yiu 

Dear audience, act before it is too late.   

What is your response? 

Characters 

News reporter/MDCsX2/LDCsX2/island people X2/ Polar bear X2/Sea Turtle X2/ 

Mr Earth 
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